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Extension Activity

Class:

Task 1: You are going to have to create a spreadsheet from scratch to show how the spy equipment
has changed in weight between 1990 and 2012.

In 1990 the Army boots weighed about three and a half pounds (Ib) and in 2012 they weigh only two
and a half pounds.

A backpack has reduced from 5 Ib to 3 Ib over the same time and binoculars have also changed from
2 lb tojust 1.5 Ib.

A compass and the evening wear have not changed their weight. The compass is about half a pound
and the evening wear is around 5 |b.

A wet suit has reduced in weight from 5 Ib to 3 Ib.

Task 2: Make sure you have used correct titles and formatted your spreadsheet appropriately and
save it with a sensible name in your work area.

Task 3: Create a graph to show the data. Format it and save your work.

Task 4: Answer the questions below using your graph.

Question Your Answer

1. Which pieces of equipment have stayed the
same?

2. Which pieces of equipment have reduced in
weight the most?
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